MC QVS Accessories V

ISO 15552 STANDARD CYLINDER (STAINLESS STEEL) mindman

H
S,
(e

No. Accessories Material Page No. Accessories Material Page
1 | Mounting accessories LB SUS316 1-61 8 | Floating joint MFC Carbon steel | 8-2
2 | Mounting accessories CA SUS316 1-61 9 | Floating joint MFCS Carbon steel | 8-5
3 | Mounting accessories CB+PIN SUS316 1-61, 64 10 | Female rod ends PHS-S SUS 8-7
4 | Mounting accessories CDB SUS316 1-60 11 | Fitting PC (PISCO) - 8-3 (Vol.1)
5 | Mounting accessories FAC/FBC SUS316 1-63 12 | Speed controller JSC (PISCO) — 8-15 (Vol.1)
6 | Mounting accessories TA/TB/TC SUS316 1-62 13 | Sensor switch RCV+BV125 - 8-8
7 | Accessories YP (Y+PIN) SUS316 1-64 14 | Protective bellows kit NBR —

M mindman 1-58



MC QVS Installation of sensor switch 232~¢100

ISO 15552 STANDARD CYLINDER (STAINLESS STEEL)

Code Sensor
Tube I.D.\| switch
32
40 RCV
50 +
63 BV125
80 (Band)
100

B Mounting accessories

@ CB+Pin (Extra purchase)

DS 815

DAG:

CD "

15.5

12

ooood poof

mindman

Mounting clamp

Loosen / tighten

Screw & nut

0ooooooot ]DDEHIDDD[?

|

DYy st

ZT+Stroke

CB accessory

CDB accessory

e | A |CD|DA|DB|DC|DD|DE|DH|DS|DT|DY| E |zT
32 22110 | 26 [ 51|31 |38 |18 | 6.6] 32 8 | 21 [ M10%x1.25| 142
40 24112 | 28 |54 | 35|41 22| 6.6 36 | 10 | 24 [ M12x1.25( 160
50 32|12 |32 |65|45 |50 (309 | 45|12 | 33 |M16x1.5 |170
63 32|16 |40 [ 67 | 50 | 52 [ 35 | 9 50 | 12 | 37 [M16%1.5 | 190
80 40| 16 [ 50 | 86 | 60 | 66 | 40 |11 63 | 14 | 47 | M20%x1.5 | 210
100 | 40| 20 | 60 | 96 | 70 | 76 | 50 |11 71| 17 | 55 [ M20x1.5 |230

M mindman

1-60




MCQVS Mounting accessories 232~2100

ISO 15552 STANDARD CYLINDER (STAINLESS STEEL) mindman

m XA+Stroke A

| |
wi o, X
S| 3
S — +| =
500 %
LM LL
! 4-gLB "
LY+Stroke
x
o
m|
@CD H9 L
/ E
e,
CR max | 1
T
CA%: oL
ZT+Stroke A
1
x
o
O
J SN T A i
CR max | S o ———
Cand =
T
CB H14 CL
CE h14 ZT+Stroke A
T

_Code A |CA|CB|CD|CE[CL|CR|CX| E |LB|LH|LL|LM[LR|LS|LT|LX |LY|T [XA|ZT
32 22|26 | 26 | 10 | 45| 22 10 45 [M10x1.25| 7 | 32|24 | 11 | 32 | 45 54.5(142| 10 (144|142
40 24128 |28 (12|52 |25 12 52 [M12x1.25| 9| 36 | 28 8|36 | 52 63.5|161| 10 [ 163|160
50 3232|3212 | 60 | 27 12 65 [ M16%1.5 914532 |15 | 45| 65 775 (170 10 (175[170
63 32 (40| 40| 16 | 70 | 32 16 75 | M16x1.5 9150 (32|13 |50 | 75 90 185| 12 | 190 | 190
80 40| 50 | 50 [ 16 | 90 | 36 16 95 |M20x1.5 | 12 | 63 | 41 | 14 | 63 | 95 110.5 | 210| 14 (215|210

128.5 220 | 16 |230 | 230

100 | 40| 60 | 60 | 20 |110| 41 | 20 | 115 |M20x1.5 | 14 [ 71 | 41 [ 16 | 75 (115

[0 K>l NS I NG 1 I8 S IE

ﬂWMindman 1-61

w0
—
o
=
o
o
=
=
(=]
=
=3
(=15
<D
=

| JapuiAa 19edwon)

| Japuijka aping | JapuIka Iy

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCQVS Mounting accessories 232~2100

ISO 15552 STANDARD CYLINDER (STAINLESS STEEL) mindman
m TK TD e 5
TG+Stroke \ TE ‘ s
ZB+Stroke A UW max F
TK

TH+Stroke

ZB+Stroke

M mindman

|
J S [ —|
|
f
|
TJ+1/2xStroke | TF+1/2xStroke
[
ZB+Stroke
ool A E |TD|TE|TF|TG|TH|TJ|TK|TL |[TM|TT |TU |[UW|ZB
32 22 |M10x1.25| 12 63 |73 57 83 | 47 15 12 | 37 | 50 74| 46 | 120
40 24 |M12x1.25| 16 72 1825 63 93| 53 | 20 16 | 42 | 63 95| 59| 135
50 32 | M16%x1.5 16 79 |90 64 | 101 | 53 | 20 16 | 42 | 75 | 107 | 69 | 143
63 32 | M16x1.5 20 85 |98 73 | 110 | 61 25 | 20 | 48 | 90 | 130 | 84 | 158
80 40 | M20x1.5 20 95110 | 79 | 125 | 64 | 25 | 20 | 49 [ 110 | 150 | 102 | 174
100 40 | M20x1.5 25 | 108 |120 | 81 | 132 | 69 | 30 | 25 | 57 | 132 | 182 | 125 | 189

1-62



MCQVS Mounting accessories 232~2100

ISO 15552 STANDARD CYLINDER (STAINLESS STEEL) mindman
ZB+Stroke FX
FD A FRY*™ 4-gFBH"
— |
N 1 f‘(
N> ‘ N
CERE
B I Il Vi Il B 772 Wl N ) - Ll o2
4 — CRgE
N ! N
N ‘ N
— T
ZF+Stroke
F C A
—><T<—
e —— \E
e A C E F |FB|FD|FF|FR|FU|FX|ZB|ZzF
32 22 | 26 |M10x1.25| 10 7116 | 64| 32| 80| 45(120| 130
40 [24] 30 [m12x1.25[ 10| 920 72[ 36| 90| 52[135] 145
50 | 32| 37 |miex1.5 [ 12| 9|25 90| 45 [110] 65[143] 155
63 | 32| 37 [m16x15 | 12 25 [100] 50 [120] 75]158] 170
80 40 | 46 [M20x1.5 | 16 [ 12 | 30 |126| 63 [150| 95174 | 190
100 | 40| 51 |m20x1.5 | 16 | 14 | 35 [150] 75 [170] 115|189 205
1-63

M mindman

w0
—
o
=
o
o
=
=
(=]
=
=3
(=15
<D
=

| JapuiAa 19edwon)

| Japuijka aping | JapuIka Iy

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MC QVS Accessories 232~2100

ISO 15552 STANDARD CYLINDER (STAINLESS STEEL) mindman

YP connector M

BE12

s »

Cod
| A|B|[C|D|E[H|L|M| KK

32 |31 10 | 10 |20 18 | 20 | 40 | 51| M10x1.25
40 |38 12 | 12 | 24 20 | 24 | 48 | 62| M12x1.25
50 |49 16 | 16 |325| 26 | 32 | 64 | 82| M16%x1.5
63 (49 16 | 16 |325| 26 | 32 | 64 | 82| M16%1.5
80 [57.5| 20| 20 [40.5| 34 | 40 | 80 | 105|M20x1.5
100 |57.5| 20 | 20 |40.5| 34 | 40 | 80 | 105 | M20x1.5

2-E

I
I
I
I
I
|
:
I
|
+
oD

for CA& CB
Gde | A | B| C | D | E | Snapring

Tube I.D.
32 51 46| 96 |10 |11 A10
40 59 53 (115 (12 |11 A12
50 665 61| 115 |12 | 1.1 A12
63 7 711152 (16 |11 A16
80 97 911152 (16 |11 A16

100 | 120 11 | 19 20 [ 1.3 A20

ﬂ//ﬂmindman 1-64



